
690 Duke, orange 2018 <2018><EU><F9703R4>
INSTRUMENTS / LOCK SYSTEM

17379

Pos Part Number Description Additional Text Quantity

1 76014269000 INSTRUMENT PACK 1.00

2 0021050003 washer DIN 9021 A - 5.3 3.00

3 76014069050 COLLAR BUSHING 5,5X9X15X11,5 3.00

5 61314069051 DAMP. COMPONENT SPEEDOMETER 3.00

7 0025050206 HH collar screw M5x20 TX30 3.00

10 76011066044 LOCK SET 1.00



11 76011066000 IGNITION + STEERING LOCK 1.00

12 76011064200 Tear-off screw M6 ignition loc 2.00

13 76011067100 BLANK KEY 690 0.00

15 76011066095 ALU PLATE IGNITION LOCK COVER 1.00

16 76007051000 SEAT LOCK BRACKET 1.00

17 0024060123 COLLAR SCREW M6X12 TX 300 TPI Erzbergrodeo 1.00

18 0025060256 HH collar screw M6x25 TX30 2.00

19 76007050050 SEAT LOCKING MECHANISM 1.00

20 76007052000 BRACKET SEAT LOCKING MECHANISM 1.00

21 76007053000 ANTI-ROTATION ELEMENT SEATLOCK 1.00

22 76007050000 SEAT LOCK 1.00


